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Candidates are required to give their answers in their

own words as far as practicable.

GROUP-A
1. Answer any five questions: 1x5=35

) What are the differences between renewable

and non-renewable energv?

b) Differentiate a Non-Convective Solar Pond

from a Shallow Solar Pond.
What are clean energy sources?

Write down the limitations of fossil fuel.

ORI ANR.Y

What is secondary energyv source? Give

example.

-~  What is a solar cell?

[Turn over]




)  Calculate the optimum wavelength of light for
photovoltaic generation in GaAs cell of energy
band of 1.43 eV.

#) What is meant by artificial piczoelectric
material?

GROUP-B
2. Answer any two questions: 5%2=10

a)  What s the principle of solar photovoltaic (PV)
power generation? What are the main elements
of a PV system? 352

b) Write applications of piezoelectric energy
harvesting. 5

c)  Whatis hydro-energy? Classify the hydropower
project based on hydraulic characteristics and
on head. 2+13+13

d)  Write short notes on (any one): | " 5

~7  Greenhouse effect
if)  Open cycle OTEC system (Claude cycle)
303/Phs(N) (2)

= . R B



GROUP-C
0 Answer any two questions: 10=2=20
))' What is solar pond? ixplain the construction
and waorking of solar pond with diagram, What
are its different types? 24(313)+2
b) &7 Write down the resources ol peothermal
enerpy.
i) Write down the basic idea of liquid
dominated system,
A1) What ave the advantages and disadvantages
ol" geothermal enerpy? 3+3+2+2
¢) i) Write the basic principle of wind cnergy
conservation.
i1)  Discuss construction and working of a
turbine, 5+5
d) 1)  Estimate of energy and power in simple _ .
single basin tidal system.
i1) A tidal power plant of simple single basin
type, has a basin arca of 30106 m2, The
tide has a range 12 m. The turbine,
however, stops operating when head on it
falls below 3 m. Calculate enerpy
generated inoone filling (or emptying)
process, in KWh il the turbine generator
¢fficiency is 0.73. Assuming an average
sca water density 1025 kg/m?,
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iit)  What are the Environmental issues:
generally involved in Hydropower
projeet? S+3+2
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